- 119 -

3 40,4 = 12 R IRY 4= = 1 BV
} 40,7 = 11,30-32 § 41,2 = 8-
|“'. . :.“I ﬁ"': } !il“ - l-lu"'l

[12.9.193¢)
(mavaem Y2%a) avam=Yna Tp3an *2Y% 12 VA'YR
«1458 m v nm B8 ,3"y10 104 ,2"nn lil W7 Rk vV2R 920 YawN)
« 1D = (Y1) ‘rv) 3°FUE WoDd EJH 9.3 ]
— AD A2 WL
—p
180 2"en avpen a0 |3%pON ] apon .
148 82 1'2'33.22 53 sd n;T.
— 180 Yiav.22 -— 21 a*ave-kd
M a1 LART! (11 1§ apyv-ma
37 | Yeuow 12 - 11 yav-1103
L] 20 " -— 2 13-n*3
53 60 ‘= maav 1] 4 'z nvanvy
5 44 ‘a avaa — 4 '3 mvinv
— 13 "2 - 7 13
-— 87 a1 - 1] LARAT A
— 16 3re-n 3 3 naYP-a2
— R0 M2 N - 33 157-12
631 154 1112 - 5 1 nrai



http://www.tcpdf.org

